KENDRIYA VIDYALAYA SANGATHAN, LUCKNOW REGION/h ﬁI?II ﬁ'c‘RZIF—PI FI'JIB'?T
ISECGE) '\':T3TI?T
PRE-BOARD EXAMINATION - FIRST (2023 — 24) / qg:‘r IRYCT g8 — 92U (2023 -
24)
CLASS 10™: SOCIAL SCIENCE (087)/ Sh&TT G&d1: ATHToeh [da1TeT (087)

Time Allowed: 3 Hours Maximum Marks: 80

General Instructions:

1. The question paper comprises Six Sections — A, B, C, D, E and F. There are 37 questions in the Question
paper. All questions are compulsory.

2. Section A — From questions 1 to 20 are MCQs of 1 mark each.

3. Section B — Question no. 21 to 24 are Very Short Answer Type Questions, carrying 2 marks each. Answer
to each question should not exceed 40 words.

4. Section C contains Q.25to Q.29 are Short Answer Type Questions, carrying 3 marks each. Answer to
each question should not exceed 60 words

5. Section D — Question no. 30 to 33 are long answer type questions, carrying 5 marks each. Answer to each
question should not exceed 120 words.

6. Section-E - Questions no from 34 to 36 are case based questions with three sub questions and are of 4
marks each. Answer to each question should not exceed 100 words.

7. Section F — Question no. 37 is map based, carrying 5 marks with two parts, 37a from History (2 marks)
and 37b from Geography (3 marks).

8. There is no overall choice in the question paper. However, an internal choice has been provided in few
questions. Only one of the choices in such questions have to be attempted.

9. In addition to this, separate instructions are given with each section and question, wherever necessary.
10. Note: CBQ stands for “Competency Based Question”. 50% weightage allocated for competency-based

questtons
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| SECTION A — MCQ (1 x 20 = 20 marks) |




Who among the following was the architect for the Unification of Germany?

A. Otto Von Bismarck B. William I

C. Fredrick I1] D. Napolean
ﬁm‘i%l%a A O Pl STHAT & THIHIUT &l STeTeh AT?

AW I IGREESIED B. TdTeldH |

C. %1 Il D. AqtTerge

Identify the crop with the help of the following information

e [tis a crop which is used both as food and fodder.
e [t is a kharif crop which requires temperature between 21°C to 27°C.
e [t grows well in old alluvial soil.
Options:
A. Wheat B. Maize

C. Ri - D. Sugar
ﬁﬁ%’%ﬁdld%l{l T TERIAT & Bl ST TgeTel

o Jg Tch U Bl ¢ fTehT 3T AioleT 3R IR gt & §T H
forar Srar &

o IE Tdh GUWH B & Tk Tolw 21°C & 27°C & o dTIHTe ahl

3TITHT BT & |
o IE Wl STelg AT H 3redT oig 3aTcr &
Tehed:
A.7g B. HAFRT
C.dldd D. el

In India’s federal system, the Central and the State governments have the power to legislate on all
those subjects which are included in the:

A. Union List B. State list

C. Concurrent list Sugarcane

AR &I U cgger H, Wﬁ?{laq TIHRT & 37 T vt W
ShlelsT Sellel eh QATercl & ST ATTA g

Y H\E’IT I H\E’IT
AT H\?JT IS a9
Which of the following pair is correctly matched?
A. Alluvial Soil - Gangetic Plain
B. Black Soil - Himalayan Region
Arid Soil Western Ghat

aterite So, Desert
%m%%ﬁ@aﬁam T e 37
A. STeilg AT - 379 T
B. el TACCT - IFEIGRESE]
C. s AT - qiRg#HT g
D SErse el ; FEEAAT &7

Which one of the following is an example of ‘Coming together federation’?
A. India B. USA
C. Belgium D. Spain




[Tl d & G hlel AT 'Uah AT JThR T dollel Tl 361807 g2
A 9RT B.JTHT
C.dTeaddH D. &9

Which one of the following is a formal source of Credit?
A. Relative B. Trader

C. ey lengder, . Cogperative sogiety
TS 3 & et & F0T 1 HTaieh Bl 82

A. A B. SIURT
C. | D. HghRT ATATA

Arrange the following in chronological order:

1. Print culture created the conditions for the French Revolution
II.  Martin Luther’s writings led to beginning of the Protestant Reformation

III.  Menocchio reinterpreted the message of the Bible
IV.  Johann Gutenberg invented Printing press
OPTIONS:
A, ILILI &IV B. LI I &IV

ﬁm%l%’?lr{l’ Igéhlmlojg’mqo S # SaTed Y. | .
. HeUT TR o IR sifd & forw aRTEafaar ffad S
Il AEH o[ o oGl & YIEEET FEUR T L3I &5
Il AN F TSI & Heer o T T
IV. GGt aeatear of T oy ahr 3nfasenr faram

fashew:

1, 1, 1 ARV , 1, 1 ARV
1V, 11, 1l 3T | 1V, II, 111 3T |

Which one of the following is a challenge of Globalisation?
A. Access to New Markets B. Access to New Talent

C. !ntﬁgatm%;}l_\%e%%%tr_n%ﬁ_ a'Q DEEI_D_S%{’_Oert?nﬁte %g}?rowth
A. ST SR o Tg B. 78 ST o Ugd
C. ARSI AT gleAT D. 3feqTcglel geTe glell

Which one of the following countries adopted majoritarianism in their Constitution?
E. Nepal F. India
H, Bangladgsh

ﬁ?%ﬁ%%%kaﬁﬁﬁméﬁrﬁmﬁﬂﬁhm H SgOEIHAIC S ITATIT?
A.Fgrel B.oRd
C. AlelohT D. d1aelcer

10.

Choose the correct option from the following:
List I (Example) List IT (Sector)
A. Courier Tertiary Sector

B. Fisherman Secondary Sector




C. Carpenter Primary Sector

I;% Eorter 33[ Qﬁ' ﬂﬁ' E]?f Secondary Sector
el (W) el

A. FRI CRIRCEE]
B. AG3R AT A

C. 93 grafae &
D. TUX AregfAs

&

S}

11. | A woman works at a sweet shop in her village on a contract basis and gets meagre salary after
working the entire day. She doesn’t get any holidays or paid leave, rather her employer deducts her
salary whenever she is absent from work. Find out in which of the following sectors she is working?

A. Primary Sector B. Service Sector
rganized Sector . Eﬁ Unorganlsed Sector
m%?»n g H Th ﬁro"ré 3TeTE o HTUR 9T I
aﬂ?ﬁ%ﬁ?tﬁﬁ'ﬁqﬂﬂ el o §I¢ ﬁqsd 5 adeT [RIar &1 39
ﬁéwﬁmmaﬂaﬁam&raﬁrﬁﬂ# deh AT M agFA Y
AT Tgell ¥ A IHHT FA IR 3HHT dieT FIT ATl & | Il T
foh ag PeTToTld & & fohe &1 & &1e T W &2
A 9TITHS &3 B. &dr &3
C. HISd &1F D. 38 &7
12. | Which one of the following Project was launched in 1973?
A. Project Tiger B. Indian Wild Life act
C. Wildlife %:_t D. Indian Wlldllfﬁo ec, 10n act
RrAfIad 3§ & Fia o aReieT 1973 &
A. 9T5leC CISIR B.Wmaﬁﬂ'
C.dg3gd ATIATH D. ARAT dedSild HI&T0T
13. | There are two statements marked as Assertion (A) and Reason (R). Mark your answer as per

the codes provided below:
Assertion (A): Sustainable development is essential for economic growth of the countries.

Reason (R): Sustainable development ensures that environment friendly measures are adopted for
carrying out production processes.

A. Both (A) and (R) are true and (R) is the correct explanation of (A)

B. Both (A) and (R) are true and (R) is not the correct explanation of (A)

C. (A) is correct but (R) is wrong

D (A) is wrong but (R) is correct . .

eT (V) IR RUT (AR) & &7 A RFEAT &1 = few are

m $ 3eTER 39T 3T CRK
HHFHUA (T): SRIt e 31T gefer & Tl A [dehrd 3maedss ¢




HIUT (3X): Hdd Tdh1d g AR Il © Ich 3cUlce HTshITHT bl
WW%%@WWWWWI
A. 2t (T) 3R (3TR) T ¢ 3R (31R) (T) &7 TET TSHI0T
B a’la’f(nr 3R (3TR) T & 3iR (3TR) (T) T TEY TISEHRIOT o181 &
W%W(W)W%‘
U) Il & offeheT (3TR) TET &

14.

The process of integration between different countries is called as
A. Privatization B. Globalization
C Libgraljz

‘\’ILF % CIEREIETMIED = C%r%?etmon el STaT &l
A.'I?IGﬂT:hTUT B. d2aTehRI0T
C. 3aRI0T D. 9raanrerdr

15.

Development of a country can generally be determined by
(a) its per capita income (b) its average literacy level

(c) health status of its people (d) all the above

Tl 1 T Taehrd HTATETA: Tohfieh ganT TR foham ST Herdr 87
(v) 9fa cafea 3ma (&) e FTERAT TR
(EY) S hr TarEey Fufa (3 39k T

16.

Which one of the following aspects was common between the writings of B.R. Ambedkar and E.V.
Ramaswamy Naicker?
A. Wrote on the caste system in India
B. Highlighted the experiences of women
C. Raised awareness about cultural heritage
D Motlvat d Indlarﬁ-ﬁ% %_elr national freedom.

AT, JATEITAT ATIHT & IWeT & ST
ﬁmﬁlﬁlﬁﬁ@raﬁﬂmqsd GHTT AT?
A. IR & ST sggem W foraT
B. AR o 37787aT TR FehIRT STell
C. Hitarias fOrad & IR F AREHAT 9618
D. HRTAT & SThT TSET T & forw AR fam

17.

Literacy Rate measures the proportion of the literate population in the age group.
A. 10 and above B. 21 and above
C. 7 and above D. 18 and above

HIERAT & 31 3T 3 |IET HTEIET oh 3eTdTe &1 AT & |

A.10 U9 3119 B.21 wa 31ee
C.7 Uq 3Tgh D. 18 Tq 31Tgh

18.

Name the writer of the novel ‘Anandmath’?
A. Ravindra Nath Tagore B. Raja Ram Mohan Roy
C. Gopal Krishna Gokhale D. Bankim Chandra Chatterjee

39T 'HTACHS' oh oleh ol ATH FIT &7
A. Tdleg T ¢ B. ST TH HAlged T




C. T4l E'EGUT dlId e D.dleshH dUg dCall

19.

Removing barriers or restrictions set by the government is known as

a) Globalisation b) Disinvestment
¢) Privatisation d) Liberalisation

le%q\qm%ﬂ‘rﬁﬁwﬁmmaﬁm & & H ST
ST gl

A) dedieroT B) fafaraer

C) fasiieor D) 3gRIeoT

20.

Apart from the Central and the State Government, Belgium has a third kind of government as well.
Identify this third kind of government from the following options:
A. Democratic Government B. Socialist Government
C. Community Governmgnt D. Libera g%rGovernment

g AR T TIHR & ITdT, STeaTIH ag Fr AR Y
gl ﬁmﬁ@aﬁﬂﬁ@rsﬂ?ﬁﬂ? JhR hT IR T 9gdTe] i
A. dllehdlTeTdeh PR B. GATSAIGT H{h X
C.WW D.3¢Rdrgr Gl

SECTION B

VERY SHORT ANSWER QUESTIONS (2 x 4=8 marks)

21.

xplaig any two provigjong that make Indja a secular tate.
H ar ;nazn;ﬁ T [T U YHTAYET TSE FeATd & |

22.

Suggest qny twq ways to cops eenergy regources i Jn 'c(‘h' . .
AN 3\0'IIW§TFH' %FH HWW@THEI

23.

In what ways overgéll;rnt caq increase employment in the rural sectq
TR AT e TR ST T Hehdll ‘e(f?

24.

escribe any two _steps faken by thg gavernmept towards decentralization in the year 1
v 1992 & Y G2 37 THR GdRT 30T T oy et

T 9T FITAT]
SECTION C

SHORT ANSWER-BASED QUESTIONS (3 x 5 =15 marks)

25.

Why did Mahatma Gandhi decide to launch a nationwide Satyagraha against the proposed Rowlatt
Act? Explam an¥ three reasons

A YEdNad Uelc Tae & el Tegeardt e q&
WWWWW?HWWH#WWI

26.

efine plantation agriculture Explal any two characteristics of_:éra ation agricu %
fﬁ"’{ | Jeror aaf%r i’%ﬁr?r RISAT3AT &l

27.

How has Globalisation created new opportunities for companies providing services in India?

%%’é%wﬁmmammmmmﬁasmmw
I e forr 2 guia HRU|

28.

Describe the proyisions of “National Rural Employment Guarantee Act 2005.”
Wﬁwﬁwﬁ 2005” & YIGETsl &l qotel




29.

“There is overwhelming support for the idea of democracy all over the world." Support the
statgment.

N A derdd & AR & foT 9y g#da & Faa &1 gada

SECTION D

LONG ANSWER-BASED QUESTIONS (4 x 5 = 20 marks)

30.

“Politica] parties play a pajor,role in democracy Explaip any fiv to ustlfy this statement.
ua?ﬁ‘%ax Gl dlehdd aﬁﬁm Tran SH HUT Al
FATIHIT SEXTC §U ﬁwﬁ_@fr Wﬁﬁml

Describe any 5 challenges bef re the pohtlca art s in.India.
S 3 Trofoltoeh aoft urd gt & gofel il

31.

How would you evaluate Napoleon as an administrator who created a more rational and efficient

system? Elucidate with suitable examples. = |

%qﬁ%'q?r, Uch h TehEITd 3R FHrel Fenfaieh JoTrell & 6T,
3eTenT Hedlehel Teh ATHSE & &7 F 3T $F HLAT? WBEF@"WIT%
T TASE Y|

OR
Analyse the role of folklore and symbols in the revival of nationalism in India during late 19®

195 df oA & I F N oA § TeAE F REHR #
Wwﬁsﬂ?m@rmﬁwﬁamaﬁl

32.

“Cheap and affordable credit is cruc1a1 for the country’s development.” Explain the statement with

ﬁvepmnsﬂiﬁmﬂ?ﬁwa@ré;mé:favmqﬁ%* YT I 9T
ﬁ—gsﬁa?m?r\rcrvdaﬁﬁml

Define t%_ ¢ merjts and demerrts of

Sector of Credjt” jn India.
S SRR

33.

Suggest any five steps to minimize the env1ronmental degradation caused by the industrial

developﬁent in Inﬁlé ﬁwaxwmmw 80T &l el
A & T et e v 1 g &

What is the ¢ ntrrbutlon of %u%ctuﬁng 1ndust 1€ to the National Econo ‘7
QIGéIZI T ATITGTeT FIT

SECTION E

CASE BASED QUESTIONS (3 x 4 = 12 marks)

34.

Read the given extract and answer following questions

Narmada Bachao Andolan or Save Narmada Movement is a Non-Governmental Organisation
(NGO) that mobilized tribal people, farmers, environmentalists and human rights activists against
the Sardar Sarovar Dam being built across the Narmada river in Gujarat. It originally focused on the
environmental issues related to trees that would be submerged under the dam water. Recently it has
re-focused the aim to enable poor citizens, especially the oustees (displaced people) to get full
rehabilitation facilities from the government.

People felt that their suffering would not be in vain... accepted the trauma of displacement believing
in the promise of irrigated fields and plentiful harvests. So, often the survivors of Rihand told us that
they accepted their sufferings as sacrifice for the sake of their nation. But now, after thirty bitter




years of being adrift, their livelihood having even being more precarious, they keep asking: “Are we
the only ones chosen to make sacrifices for the nation?”
1. With what objective ‘Sardar Sarovar Dam’ was built? 1
2. Analyse the reason of protest by the tribal people. 1
2

3. Ha%_hq%’_the issues on which ‘Save Narmada Movement’ worked on.
%U T 3CEROT IR ‘%mﬁ%rﬁ?ﬁ 9elt & 3

FAHET SATIHT STl AT ¥ AHET AIHT Ueh ﬂiwﬂw
U?lx_z‘n'}ﬂ' g ToIgel IoRId & Hc] AET I FoT 7§ AIGR TSR T &
mmmmmm@w

SIS I oSG [haT| Tg FHel §T H ST & Tl H g9 Ui &
He O TRl Aeal R Hiad ATl &Tel & 7 8 TS ARG,
%@Wﬁwﬁﬁ(ﬁwﬁﬁaﬁﬁ)ﬁwﬁqﬁmaﬁw
e et 3 TETH Tollel & 332 T T & 1ot g d fohnar g
T T 1 foh Ievehr T e 7T Sheef... RifRd @at 3 s
BT & a1 UX TA9AT IS §U TaEUTI & T &1 TR 3T
sgfaT, 37 Reg & 99 o9 & g8 SaT fo 3egia 3719« IS¢ & T
39T e T Sfelle & 9 H TR fhar g1 JfcheT 319, 19 $sd gt
deh Acahel oh d1¢, 3aTehl ATSildenT 3T oY 318 AflTa g s arg, 9
IS @d &: "1 IS¢ & Telv afelelet &1 & folv shael g 81 g1 10 872"

1. TERER TR ST Th 352 & JoTIl T A7 1

2. STASATATT 19N o TdUY b 0T ahl TdAYUT hl| 1

3. HWWWQTWWW 'THCT dAT3T 2

HTEToTeT o SIH TR

35.

Read the given extract and answer following questions.

Power sharing arrangements can also be seen in the way political parties, pressure groups and
movements control or influence those in power. In a democracy, the citizens must have freedom to
choose among various contenders for power. In contemporary democracies, this takes the form of
competition among different parties. Such competition ensures that power does not remain in one
hand. In the long run, power is shared among different political parties that represent different
ideologies and social groups. Sometimes this kind of sharing can be direct, when two or more
parties form an alliance to contest elections. If their alliance is elected, they form a coalition
government and thus share power. In a democracy, we find interest groups such as those of traders,
businessmen, industrialists, farmers and industrial workers. They also will have share in
governmental power, either through participation in governmental committees or bringing influence
on the decision-making process.

1. ‘Power sharing is an essential component of democracy.” Give one example 1
to prove the statement.

2. How is alliance building an example of power sharing? 1

3. How Political parties, pressure groups and movements help in controlling or 2

influencing those who are in power?

feT a1v 3eER0T FI ug IR Frafaf@d geat & 38 S|

T AT STTEUT Y AT Sell, GaTd THG! 3R 3TeTeler garT
T F & et T T I TS e & ik 27 ofY 3T ST Fehall
&1 ol H, ATTRET bl Tl & Faffieet GTaGRT & | Ietel T TGl
mm|wmﬁwmm$mmw




¥ of ofdl g [ THT ITdETdT I8 JIARTT &Il & Teh T Ueh &1 H o

F3-F3 58 THR N WA FeaT & Tl §, 19 &Y A § A+
qIfeAT IATd oIS a?ﬁ'tf?l‘é_q’u?ram?ﬁ??l e 3eTehl ASaere TAaTi=a
BT &, O T oY TER Fo1a & 31X 27 YR TaT TS 3 &
Slehd T #H, §H SIUTRAT, TGN, 3¢Ierqiadr, fharr iR
e sffe O fea w9 e § 1 avery afafadt 7 sefer
AT FIOTT et T URaT R THTT STeley & ATETH &, TR I & o
3Tt feTderY grefr|
1. 'GdT T HISIGRT ellehdd ol Teh HTAdIT Ucah gl
HYsT I TASH A & ToIT T 3¢180T ST
2. MBI AT T YR TAT TSERT F TH 1
3CTEI0T 872
3. {TSlATdeh Gel, gdld g I 31eTeled 8d1 # d6 2
%ﬁ?ﬁuﬁaaﬂﬁm%ﬁaaﬂﬁﬁéﬁm
2

36

Read the source given below and answer the questions that follow by choosing the most appropriate
option:

‘Krishnaji Trimbuck Ranade inhabitant of Poona intends to publish a newspaper in the Marathi
language with a view of affording useful information on every topic of local interest. It will be open
for free discussion on subjects of general utility, scientific investigation and the speculations
connected with the antiquities, statistics, curiosities, history and geography of the country and of the
Deccan especially... the patronage and support of all interested in the diffusion of knowledge and
welfare of the people is earnestly solicited.’

Bombay Telegraph and Courier, 6 January, 1849
“The task of the native newspapers and political associations is identical to the role of the
Opposition in the House of Commons in Parliament in England. That is of critically examining
government policy to suggest improvements, by removing those parts that will not be to the benefit
of the people, and also by ensuring speedy implementation. These associations ought to carefully
study the particular issues, gather diverse relevant information on the nation as well as on what are
the possible and desirable improvements, and this will surely earn it considerable influence.’

1. Explain the main reason of publishing newspaper by Krishnaji? 1

2. How was the task of native newspaper and political association seen 1

identical to the role of opposition?

Analyse the regsong,of popularity of newspapers during 19th centu
;h%r E T q%q%ﬁ\; 3 3@% ot amrsyﬂﬁmﬁrqea’r
3dY

"TeAT & TAITHT FeoTTST e TS TR ffd & & vy w 3ugel
mmﬁaﬂﬁaamwﬁm@rwﬁwwwwﬁa
el I SIS IWd & | Tg AT YW NAT, IaTfAeh o 3R 621 3iR
TIAT §F A GereheT o JXTaRAT, 31ehs], foraman3it, sfera 3R st &
aﬁW%ﬁmew%ﬁvww TR & 31 @Y
dor Gl ST &7 TRETOT 3 GHIT i & FA1eT 31} Hearor Y
TR 3198T T ST B 1




dT&Fd CTefl[dTh Us I, 6 Slodall, 1849
ol FATAR T3T 3R Tfae ot & ST S9ais & ¢ F 8139 36
mﬁﬁv&w@mﬁw%w%lmyé%wﬁahﬁaﬁ
3MTelTEIATcHe ST i, GUR I G &, m%w‘rﬁma’r
W%mﬂ%ﬁvaﬁgﬁ 3R @Yy & calRa seags giAafead
il & | $oT Hl ol [IRIT FHEl &l AraeiTeiqden eI AT AR,
IISE & TTY-TTY TN 3 AT GERT UR FATaer wIeifetes SieTery
UFHT e AT, 3R I8 AfPad €9 T 5§ S 91T 31T HEm|'
1. SSUTTSAT GaRT HATAR WW@HWWWW 1

SATT?

2. EAT AR 9T 3T TollTdeh 9 T hrA 199eT T 1
${THEPT o HATST Hd QT IAT?

3. 193T UATeeT & ERTeT THTAR U3T 3T ARTIIdT & 2
SHIOTY ST TIITOT Y|

37

a) Two places A and B have been marked on the given outline map of India. Identify them with
the help of given information and write their correct names on the lines drawn near them.
1. Indian National congress session at this place in 1920.
ii %Q_ace where Mahatma Gandhi broke

he salt law
T ®RET CITagf Y A 3 B & Rifga
WW%I &I 3T STTIRT I HEIAT ¥ 3o IgaTaAT 3R 3eTh
gy Wi 315 @13 W 3oTch el AT o fQau|
i. 1920 H 5H TUTT UT HRATT ISEIY I T AL
i. 9 T STeT HGTCHT T o ST sl dIST AT

b) On the same outline map of India locate and label any 3 of the followmg with suitable
symbols.
i.  Hirakund Dam
ii.  Tarapur Atomic Power Station
iii.  Paradip Sea port

) iv. N01da softwarg tec}l%kw W ;R—ﬂ?:lfl’ & aryg ﬁmﬁ-@a
sfr@rﬁo—&ma:rwﬂ?ﬂt’ﬁ?mW'
ERIhS a1y
ii. AR IRATI] HAF
i, RIGATT FHAT T
iv. SITUST AFCdaR STFitalioll ITdh

Note: The following question is for Visually Impaired Candidates only in lieu of Q. No. 37 a & b.
37a. 1i. Name the place where the Indian National Congress session was held in September 1920.
ii. Name the place where Mahatma Gandhi Broke the salt law.

37b. Answer any 3 of the following.
[.  Name the Coal Mine Located at Tamil Nadu
II.  Name the Dam Built on the River Chenab
III.  Name the Largest Natural Sea Port Located at Andhra Pradesh
IV.  Name the State Where Noida Software Technology Park Is Located.




oI To1eTTolTEd U] hdol ciSeaITdd 3EHIGdRT o 1010 U] T&l
37a 3R 37b & TAHT W &l
C) 37a. i. 3 TUTeT T oITH SASU 16T e 1920 H ARAIT TSI
I T T AT ThaT 1T 2T
d) ii. 3H TTeT BT oATH ddIST ST&T HGTCAT el oF AHh hlo]o]
drsT am|
e) 37b. AFafaf@a # & fhegl 3 &1 3R ATAT:
f) dffereTs 7 AT FITell Wl &l ATH ddIsU
g) R ey 9% det ST &l ATH TdTST
h) 3TTer 9eRr A T8 T8 93 UThfdleh ALY SeI3Mg h ATH Jd1SU
1) ?Wa?raqulsu STET ATTST ATFEAIX SFATalTSI U T2
|







